fou

o NS gdst
C NHBHEE S

Al & 0l &8 A& F Ml A

[H BX WSt

- SRI(BH) - MIRAIY - BES Oif o JE N Blwsz
19,967, 140 17,361,647 2,605,493
= 2,057,012 1,938,521 118,491
s 950, 221 181,841 768,380
== 1,067,318 707,637 359,681
= 15,892,589 14,533,648 1,358,941
2,643,541 2,008,239 635,302
= 2,520 1,020 1,500
s 788,000 0 788,000
= 41,424 41,074 350
o 1,811,597 1,966, 145 A154,548
SHHELS 2,576,937 1,946,739 630, 198
= 783,000 0 788,000
== 34,060 34,760 AT700
i 1,754,877 1,911,979 A157,102
0 1,400 A1,400
== 0 700 AT700
i 0 700 A700
0 1,400 A1,400
== 0 700 AT700
i 0 700 AT700
0 1,400 A1,400
M= AtS o 0 1,400 A1,400
< 0 700 A700
= 0 700 AT700
& 2,088,817 1,457,219 631,598
= 788,000 0 788,000
o 1,300,817 1,457,219 A156,402
2,088,817 1,457,219 631,598
= 788,000 0 788,000
o 1,300,817 1,457,219 A156,402
2,073,817 1,442,219 631,598
e X2 259,560 179,962 79,598
Mo sz
7,200,000, 000 %2, 45% 176,400 122,304 54,096
e Y 2
10,800,000, 000 *0.77% 83,160 57,658 25,502
golgda
18,000,000, 0002 % 10% 1,800,000 1,248,000 552,000
sy 788,000 0 788,000
= 1,012,000 1,248,000 236,000
21,804 16,700 5,104
= 2,520 1,020 1,500
== 6,564 5,514 1,050
= 12,720 10, 166 2,554
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EAM FRuSo
I XLEH
el AHIAEE 2 Sotatel

2A -3 - A(FH) - HIRA - BEZ Oil &red J &3 N Hlwsz
EPIIESIPNE R 7,404 7,300 104
101 2l24y| 6,104 6,000 104
04 JIZtHI2Z2XEE S 6,104 6,000 104
OSIIZLIEHRE MBS (=, 2)
250,000240.0115%92 x40 104 0 104
ZEIAA 0|22 M XA (HER) 5,000 0 5,000
= 1,500 0 1,500
= 1,050 0 1,050
z 2,450 0 2,450
301 Let2d&3 5,000 0 5,000
= 1,500 0 1,500
= 1,050 0 1,050
z 2,450 0 2,450
14 J|Et2 432 5,000 0 5,000
OFsAG A 0845 XA (HgE
) 5,000,000 5,000 0 5,000
= 1,500 0 1,500
= 1,050 0 1,050
z 2,450 0 2,450
dEANE2I 2 364,947 262,447 102,500
[ 49,820 11,820 38,000
= 315,127 250,627 64,500
HEAZHLI2Y 364,947 262,447 102,500
= 49,820 11,820 38,000
z 315,127 250,627 64,500
HSAE ADE Y XJAAS 100,000 0 100,000
= 40,000 0 40,000
z 60,000 0 60,000
307 QI2H0| M 100,000 0 100,000
= 40,000 0 40,000
= 60,000 0 60,000
02 IZHBAANSBEE 100,000 0 100,000
OLEAE ADIE ZIRIE A
50,000,000 50,000 0 50,000
[= 20,000 0 20,000
= 30,000 30,000
OHEAIE AO0tE ZSXAAS
50,000,000 50,000 0 50,000
= 20,000 0 20,000
z 30,000 0 30,000
HEAZ TXIBHOE ALY 60,000 62,000 A2,000
< 8,000 10,000 A2,000
= 52,000 52,000 0
201 LEH2HH 44,000 50,000 6,000
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FA: BHLSH
F: MdSAE2Z 2t

Hel dSAFEHL2Y CEERD
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
= 0 4,000 A4,000
i 44,000 46,000 22,000
03 A2GEH| 44,000 50,000 6,000
ONSAIE XSO ALY 44,000 50,000 6,000
2Fcla3d &g A
8,000,000 *33| 24,000 30,000 26,000
< 0 4,000 24,000
= 24,000 26,000 A2,000
307 212t01™ 16,000 12,000 4,000
== 8,000 6,000 2,000
i 8,000 6,000 2,000
04 CIZIHALAIRIE T 16,000 12,000 4,000
OHSEANE T SHEMAL
4,000,000 x4 A %13 16,000 12,000 4,000
o= 8,000 6,000 2,000
i 8,000 6,000 2,000
AESH AtZ] LPG HHZS IEAIE AEE2ES(HAMA 4,500 0 4,500
&)
402 QIZERHE0|A 4,500 0 4,500
03 SIZtRAEAIHI 4,500 0 4,500
OAIEH A2l LPG Hi2tZ =AY AMEE2E
S(LAIE) 1,500,00024*30H A 4,500 0 4,500
g =8 2 otF, 225 =X S8 3,041,243 2,970,362 70,831
s 162,221 181,841 219,620
== 410,744 271,270 139,474
i 2,468,278 2,517,251 48,973
LHAIQl= A CHE 1,492,862 1,358,416 134,446
< 349,356 196,270 153,086
i 1,143,506 1,162,146 18,640
NESSSH LXR2IAIS (FEALS) 432,869 432,869 0
< 224,356 192,270 32,086
= 208,513 240,599 A32,086
101 @l244| 432,869 432,869 0
< 224,356 192,270 32,086
i 208,513 240,599 A\32,086
04 JIHHI2Z2 XS ES 432,869 432,869 0
OXSBSHLXeIAIY 2l4t| 432,869 432,869 0
(== 1,084,600 %2721 10& 292,842 292,842 0
== 224,356 192,270 32,086
i 68,486 100,572 A32,086
NSaARFS A= KA 134,446 0 134,446
< 121,000 0 121,000
i 13,446 0 13,446
307 212t01™ 134,446 0 134,446
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2AX:
X{XH -
o e

chel:

2A -3 - A(FH) - HIRA - BEZ Of| &toH J &3 N Hlwsz
= 121,000 121,000
z 13,446 13,446
02 QB AAII S X 134,446 134,446
OXlcipeigtEs AX2IHE A (LE
H) 134,446 0 134,446
0AFR(SZ)EHXI L JIZSAF LXK ALY
101,112,000 101,112 101,112
= 91,000 91,000
2 10,112 10,112
0RO FAS 9I6h AAI|SO YA
= 33,334,000 33,334 0 33,334
= 30,000 0 30,000
z 3,334 0 3,334
NEEEEPIEIEENE 86,000 105,000 19,000
7 64,500 78,750 14,250
= 15,050 18,375 3,325
z 6,450 7.875 A1,425
NEEEIERRNEIEEES) 86,000 105,000 19,000
7 64,500 78,750 14,250
= 15,050 18,375 3,325
z 6,450 7.875 A1,425
307 BI2H0I A 86,000 105,000 19,000
7 64,500 78,750 14,250
= 15,050 18,375 13,325
2 6,450 7,875 1,425
02 DIRIZAAIIE X 86,000 105,000 19,000
OABIRI|Y SAXIR(AX2IEES)
86,000,0002 86,000 105,000 219,000
7 64,500 78,750 14,250
= 15,050 18,375 13,325
2 6,450 7,875 1,425
XNAZ=EE FEURR] AR 204 172 268,737 44,565
o 97,721 103,091 25,370
= 46,338 56,625 10,287
2 80,113 109,021 28,908
ZHE DNA MCOE FEAY 111,071 107,816 3,25
7 48,535 53,905 ~5,370
= 24,675 17,092 7,583
2 37,861 36,819 1,042
308 XXISHHIS0IE 104,371 101,116 3,255
7 48,535 53,905 ~5,370
= 24,675 17,002 7,583
z 31,161 30,119 1,042
13 212 S0 HerE AR IEAI ] 104,371 101,116 3,255
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S DS
Hm: 08 =8 o oy,

=l NE=Ee FEAC] AFY

SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
OFEE elAd| 104,371,000& 104,371 101,116 3,255
s 48,535 53,905 Ab,370
= 24,675 17,092 7,583
i 31,161 30,119 1,042
HEASEIIE ArY 0 33,700 A33,700
o= 0 10,810 210,810
i 0 22,890 222,890
308 KtXISHMSO0I& 0 33,700 A33,700
o= 0 10,810 210,810
o 0 22,890 A22,890
13 B2 S0ICHEHE & X LAY 0 33,700 A33,700
OFECEIIEAS o 0 33,700 233,700
< 0 10,810 /10,810
i 0 22,890 A22,890
Uy FUsSE NJAE 11,900 26,020 A14,120
o= 5,950 13,010 A7,060
i 5,950 13,010 27,060
308 XXIHHMSOIH 11,900 26,020 A14,120
== 5,950 13,010 A7,060
i 5,950 13,010 27,060
13 B2 S0CHEHE A E 2 EFALZ Y] 11,900 26,020 A14,120
ORLEY HEIASE XA
11,900,0002 11,900 26,020 A14,120
< 5,950 13,010 27,060
i 5,950 13,010 A7,060
OIHX o+ 2 B35 HE 3,824,916 2,919,320 905,596
= 1,320,142 1,184,251 135,891
o= 347,371 147,353 200,018
o 2,157,403 1,587,716 569,687
XS 2tel 3,650,916 2,569,320 1,081,596
= 1,320,142 1,116,575 203,567
= 324,371 124,353 200,018
o 2,006,403 1,328,392 678,011
LPGEI| ALEIH AIEIHE AL 13,500 6,750 6,750
= 6,750 3,375 3,375
o 6,750 3,375 3,375
403 XXISHHSXH=0]H 13,500 6,750 6,750
= 6,750 3,375 3,375
o 6,750 3,375 3,375
02 I 2SS N2 AE AL 13,500 6,750 6,750
COLPGED| AFZItT AIEIHE ALY
225 000 *600 13,500 6,750 6,750
= 6,750 3,375 3,375
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2AM:
X{XH -
o e

chel:

M S
OIHAl otd & =5 HA
KIS0 A 2el

2A -3 - A(FH) - HIRA - BEZ Oif o J &3 N Hlws2
| o 6,750 3,375 3,375
HIEX AIEINS AL (FILAHS) 234,100 234,200 A100
& 10,230 10,230 0
o 223,870 223,970 A100
401 Al&HIZ2THY| 234,100 234,200 A100
[ 10,230 10,230 0
o 223,870 223,970 A100
01 AI&HI 234,100 234,200 A100
OMASE HIIAE HEAS(BX)
34,100,000 34,100 34,200 A100
[ 10,230 10,230 0
o 23,870 23,970 A100
OI2CHel LPGAE MY B3RS AIE(2) 360,000 0 360,000
= 200,000 0 200,000
o 160,000 0 160,000
402 QIZERHE01A 360,000 0 360,000
= 200,000 0 200,000
o 160,000 0 160,000
03 QIZ+RIEAIRHI 360,000 0 360,000
ODISS9I(RE0IS) LPGASN T 23
At 360,000,000 360,000 0 360,000
= 200,000 0 200,000
o 160,000 0 160,000
OI2Cel LPGAEMNEY T B3RS AIE (%) 360,000 0 360,000
& 200,000 0 200,000
o 160,000 0 160,000
402 QIZHERHE01A 360,000 0 360,000
[ 200,000 0 200,000
o 160,000 0 160,000
03 IZ+IEAIRHI 360,000 0 360,000
Oll2H9(2s018) LPCAEMEHT 22
A 360,000,0002! 360,000 0 360,000
[ 200,000 0 200,000
o 160,000 0 160,000
Mz XSS AFSXIA 354,600 0 354,600
403 XEXISHMISK=0]H 354,600 0 354,600
02 SI|2S0ICHEHAHEE 2 E AL I 354,600 0 354,600
Ot x=sstn s3t2 =¥ XSIAS
354,600,002 354,600 0 354,600
OIEFUANZ MO HEAIE XIRAS 22,000 22,000 0
= 4,622 4,623 AN
= 17,378 17,377 1
401 AlEHIZL 20| 22,000 22,000 0
= 4,622 4,623 AN
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2AX:
T ZH -
o e

chel:

M S
OIHAl otd & =5 HA
KIS0 A 2el

SX - B - S2(3) - HRAY - LS IR Jl & o HInE2
i 17,378 17,377 1
01 Al&H| 22,000 22,000 0
OL32U4E A3EFR XA
22,000,000 22,000 22,000 0
< 4,622 4,623 N
= 17,378 17,377 1
AT HER| LPG 22 2SEAMY 1,971,346 1,971,000 346
= 1,095,192 1,095,000 192
< 109,519 109,500 19
i 766,635 766,500 135
402 QI2EXtE0IA 1,971,346 1,971,000 346
= 1,095,192 1,095,000 192
< 109,519 109,500 19
= 766,635 766,500 135
03 RIZHREALSHI 1,971,346 1,971,000 346
O LPGHI2H2E RSAIS (AR Al2l)
1,971,346,000< 1,971,346 1,971,000 346
= 1,095,192 1,095,000 192
< 109,519 109,500 19
= 766,635 766,500 135
ATHEWHXIESAIS 174,000 350,000 A176,000
= 0 67,676 BT ,676
< 23,000 23,000 0
= 151,000 259,324 A108,324
ATHAMIE X EHCHO B S AFY 0 176,000 A176,000
= 0 67,676 67,676
= 0 108,324 A108,324
401 AlZHIZL 20| 0 176,000 A176,000
= 0 67,676 67,676
i 0 108,324 A108,324
01 Al&H| 0 162,000 A162,000
O3SAIE B XA (6002)
ol 0 162,000 162,000
= 0 67,676 AN67,676
i 0 94,324 N4, 324
02 Zeldl 0 14,000 214,000
O33AE B EXIAE 2elEY
0& 0 14,000 214,000
nNSHE HH 7,952,457 7,661,759 290,698
= 734,350 753,250 18,900
== 217,959 236,120 18,161
= 7,000, 148 6,672,389 327,759
i =yl Pl 3,831,682 3,538,862 292,820
= 448,350 467,250 18,900
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2AX:

ZHLSH

M NSHE M
ol nSeEFid CEERD
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
= 120,040 137,140 A17,100
= 3,263,292 2,934,472 328,820
Y2 2HHS AReie wEIE K& 5,000 5,000 0
= 1,050 1,050 0
= 1,000 700 300
i 2,950 3,250 A300
301 LEt2d= 5,000 5,000 0
= 1,050 1,050 0
= 1,000 700 300
i 2,950 3,250 A300
14 J|Et243 5,000 5,000 0
OLNY2AIH70MI0I4) S KHRIBH
nESIHe XA 100,000 %500! 5,000 5,000 0
= 1,050 1,050 0
= 1,000 700 300
i 2,950 3,250 A300
29 dEWSIE A OrelXl X2AHE 2,200 2,600 2400
= 1,100 1,300 A200
< 440 520 280
o 660 780 A120
301 Let2d= 2,200 2,600 2400
= 1,100 1,300 2200
o= 440 520 A80
i 660 780 A120
14 J|EtE A2 2,200 2,600 A400
OLEWSIHE HAl OtelXl XI&AAS
2,200,000 2,200 2,600 A400
= 1,100 1,300 2200
o= 440 520 A80
i 660 780 A120
ERAl 2Xt24 XIRAMY 410,000 170,000 240,000
= 31,200 15,600 15,600
i 378,800 154,400 224,400
301 LEt2d= 410,000 170,000 240,000
= 31,200 15,600 15,600
o 378,800 154,400 224,400
14 J|Et243 410,000 170,000 240,000
OEAIZ T2 A XA ALS 410,000 170,000 240,000
O BHERA| 25,000,000 *2CH 50,000 50,000 0
= 7,800 4,500 3,300
i 42,200 45,500 /3,300
0JHQIERA] 60,000,000 x6CH 360,000 120,000 240,000
= 23,400 11,100 12,300
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2AM:

ZHLSH

M NSHE M
ol nSeEFid CEERD
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
| i 336,600 108,900 227,700
SEE LEIRY LI (St SHEEAl 28 X 520,000 520,000 0
&)
= 224,000 260,000 236,000
= 112,000 130,000 18,000
o 184,000 130,000 54,000
307 212t01™ 520,000 520,000 0
= 224,000 260,000 236,000
o= 112,000 130,000 218,000
o 184,000 130,000 54,000
09 2+HHEXRZ 520,000 520,000 0
OEetE sHHeiAl 28 X~
520,000,000 520,000 520,000 0
= 224,000 260,000 /36,000
o= 112,000 130,000 218,000
= 184,000 130,000 54,000
HA EFE & SHUUIIA RR2e 177,820 160,000 17,820
405 KHAHE S| 17,820 0 17,820
01 XL SSFHSHI 17,820 0 17,820
Olitsg HAZRE ST 2
17,820,000 17,820 0 17,820
HEwnsSHl 82 X2 (K-IHA) 8,000 4,600 3,400
= 4,000 2,300 1,700
= 1,600 920 680
i 2,400 1,380 1,020
301 Let2d= 8,000 4,600 3,400
= 4,000 2,300 1,700
= 1,600 920 680
o 2,400 1,380 1,020
14 JIEtE A3 8,000 4,600 3,400
OUEREHl 22 KA(K-THA)
8,000,000& 8,000 4,600 3,400
= 4,000 2,300 1,700
= 1,600 920 680
i 2,400 1,380 1,020
20243 MEZ AT A3AS FEAS 32,000 0 32,000
308 KtXIHHMSO0I& 32,000 0 32,000
14 JIEIRE =3 32,000 0 32,000
O=k ZSts 725 AY
32,000,000& 32,000 0 32,000
A HEXA 4,120,775 4,122,897 A2,122
= 286,000 286,000 0
= 97,919 98,980 A1,061
i 3,736,856 3,737,917 A1,061
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2AX:

ZHLSH

M WSHH Hd
Cer 220 MEXIR (chol: &)
2A -3 - A(FH) - HIRA - BEZ Oif o J &3 N HuwsZ
Al MEXE & 2] 6,175 8,297 N2,122
o= 939 2,000 A1,061
o 5,236 6,297 A1,061
307 QI2H0| M 1,878 4,000 N2,122
& 939 2,000 A1,061
i 939 2,000 A1,061
02 CIZHEAAIRIE X 1,878 4,000 AN2,122
OARZ HEZNM =25 XA
1,878,000 1,878 4,000 A2,122
& 939 2,000 A1,061
i 939 2,000 A1,061
MR ES(ZHwS) 2,100,516 1,500,000 600,516
I=RSONES 600,516 0 600,516
2Xxz3 BeEas 600,516 0 600,516
802 gret=DIEF 600,516 0 600,516
01 FNE2XZEEZ 566,031 0 566,031
02022, 20235 AITHA0AX] SHHD IS ALY
Of KHa4o8 174,400 175 0 175
02021 ATHAHNIUK SSEXJAAIY &
ok (O| R ) 122,650,000% 122,650 0 122,650
02022 ATHAHNIHK SSEAIAAIS &3
ZHH(O|RHIEE) 114,750,000 114,750 0 114,750
02023 ATHMHNIUK SSEXAAIS &
ZHH(O| Rt E 137,000,000 137,000 0 137,000
020228 KLU AUTI2IAIY O KAHoH
38,450 39 0 39
020234 KISAIZAEA LS| T SHRFoH(
ORI E) 170,232,770 170,233 0 170,233
02023 =shtAA NS5 XIAAF 0Kt
Eei 4,000 4 0 4
o221 2Ys YUXe|Arg TSR (0|
Xtz st) 16,585,220 16,586 0 16,586
02023 EHAIZRIEAXIRAIS EISHEFOH(
ORI E) 3,947,000 3,947 0 3,947
02023 % Sete stUEiAl 2ERIZ At 0l
KHedAyon 118,000 118 0 118
020238 E2xYad| AZEFAMH 2=
Ate) ESHRHH(O|XILE) 148,000 148 0 148
02023 SR KA EEHEH(0| K
&) 220,230 221 0 221
020238 SgEuSs 28| XIZA 0l
PR= g L 16,5802 17 0 17
02023 SITHL AL AXIAIY EHEH(O|
XHEE) 142,420 143 143
02 Al - SHIBESEEZ 34,485 34,485
O2023E & NBIZE FIIAIL N ALY O Kpet
Aol 38,6902 39 0 39
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2AX:
X{XH -
o e

=Sak

RS0t
osis

T=2O

SIS

o
i
El
O
&

S - BB SRA(SIH) - HIRAY - BES of&r ol F o blRE2

O2023F MO FEAHATSY OIKZ
Al oH 22,000 22 22
02023 AITHAOIHAXI HSXIIAIY ZIHA
o4 (0| RFZL &) 2,016,000 2,016 2,016
02022, 20231 FOIENE DISTSH LEA
XA AR O KHghAtoH 109,230 110 110
0202311 QFRF OFHIZ &IISHH0IZE OFFA|
& XIZIARR OfXperato 2,000 2 2
020221 X|Hehod UTIRIAIYS O] KpeAgoH

5,660 6 6
020231 KIHAIZAZR ST Al &3
ok (0| XY 10,213,90024 10,214 10.214
020231 Z=RIZOI0IAFAFR (01241 CHAH 20
ALNA O £5DS) Of Ko

11,9602 12 12
020231 LRI2ALTH| BURE2 XIRAL
T FHOH (0| KHLE) 141,8702 142 142
02023 AMZOl ARD AASANN XA
AR! ESHEFOH(O| X E &) 92,410 %3 93
020231 AAFZOI CIXIE 1T} XA &
SHZFOH (O] K} L&) 130, 7402 131 131
02003 EEIAAA 0|2EASH XA
TS TH(O| RFEE 4,610 5 5
020231 =512 A 243 XIRA OIXF
2l o 3,000 3 3
020238 SI2LIEHQEY SEH| XA O
KA on 18,0002 18 18
020218 AUE =UUTIRIAIY ZEZHH (O]
pAE=lY 6,512,370 6,513 6,513
020201 MEAIE REIBHOIY XIRAR &3
ZhoH (0| KFELE) 12,0002 12 12
0202213 BITHEMIXI 2L EISHZOH (0| XF I
&) 5470002 547 547
020231 BITUZMIXIRAF EISHZOH (0| XF
&) 5,000& 5 5
020231 MEAIF 42 7 SF2INEH
SIDSAL AFY RISHEOH(O|KIEE)

8,084,000 8,084 8,084

02023 HT ABIRAHIIY AR &3
&K (0|1 L) 505, 6102 506 506
02020 HUERRESAC XA HAT
H(O|XtEE) 5,729,480 5,730 5,730
02023 X d KIAIY ZBTHH(O| X}
&) 112,0702 13 13
O2023EE DHSXX 2FPIE| XL X
SIAFDS 0| KherayoH 2,000 2 2
020231 MEOHMAIE SR XIRALS O KHE
ol 34,000 34 34
020231 23X SAl OFXE DER5F TAA
o O] KpeayoH 13,0002 13 13
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20244 E =E 1 3 LEAFBHIGXNJAILSESH ZHSH
2A: JHnsSH
M HA™A F=H XS F|
el LEAFHIAT A (L AFHI AT AL ESSA) (CHRl: M)
SA-ZH - SA(3) - MRAY - BAS Oif o J &3 N Hlws2
) ImE=ini 641,046 640,000 1,046
= 410,000 410,000 0
o 231,046 230,000 1,046
2MA =8 XY JU| 640,000 640,000 0
= 410,000 410,000 0
o 230,000 230,000 0
%‘;ﬁi$tﬂllﬂll%/\+%(%’Eﬁ$tﬂllﬁll%M%§§§l 640,000 640,000 0
I
= 410,000 410,000 0
o 230,000 230,000 0
2N A FHI S X2 A 410,000 410,000 0
= 410,000 410,000 0
401 Al&HIZL2THY| 400,000 0 400,000
= 400,000 0 400,000
01 AI&HI 400,000 0 400,000
LMAFHIA JDI2X2AMS
356,000,000 356,000 356,000
= 356,000 356,000
OLALFTHIS SHIAIL (AIEH)
44,000,000& 44,000 0 44,000
= 44,000 0 44,000
402 QI2EXH=0|H 10,000 410,000 400,000
= 10,000 410,000 400,000
02 QIZEEAMSE R (01X M) 10,000 410,000 400,000
O2dEAFHEASE J2X2AL o 0 356,000 356,000
= 0 356,000 356,000
OEEAFHIS SHIRAS (AEDH)
10,000,000 10,000 54,000 244,000
= 10,000 54,000 44,000
HRES(FMRSI) 1,046 0 1,046
BEIE(LHATHIAXSAILEL T H) 1,046 0 1,046
sxraerea 1,046 0 1,046
802 etz JIEt 1,046 0 1,046
01 =NExZerEa 1,046 0 1,046
02023 LMAFHI|S KIAAIY O KHA
o 1,045,8102! 1,046 0 1,046
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